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N L | (/min) |(N-m) |(kgf-m) | (N) | (kgf) | AG3L | AG3F | AG3K | AG3L | AG3F | AG3K
1/ 5| 77 3| — | 60 |20 ~500] 5.4| 0.55] 390| 40
1/ 10| 77 6| — | 40 |10 ~250| 11.3] 12 | 780| 80
1/ 15| 49/ 748] — 066~166| 17.7| 1.8 |1080| 110 | PF21 | PF22 | PF23 | PF24 | PF25 | P.F26
22 J2F-29 | J3F-32 | 22F-35 | J2IF-38 | J&IF-41 |J2F-44
1/ 20 7/ 136 — 30 050~125| 22.6| 2.3 |1370| 140 | gg 6kg 6kg | 6.5kg | 6.5kg | 6.5kg
1/ 25| 7/ 170] — 040~100| 28.2| 2.9 |1470| 150
1/ 30| 35/ 1037| — 033~ 83| 34.4| 35 1670 170
0.4KW 1/ 40221/ 8610| — 025~ 62| 45.2| 4.6 |2250| 230
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_ wagA | EHE | EHE | sz sig | ¥ A= HoX- RSN IY
;g =L .’:.‘E-’-?HI A 2| (&) Sz | S ES O.H.L. Jl0{=E B2 0|2 && J|0|2H
N L | (/min) |(N-m) |(kgf-m) | (N) | (kgf) | AG3L | AG3F | AG3K | AG3L | AG3F | AG3K
1/ 5|91/ 459] — | 50 |20 ~500] 10.6| 1.1 [1270] 130
1/ 10| 1/ 10| — 10 ~250| 21.7| 2.2 |1760]| 180
1/ 1591/1360 | — 066~166| 33.2| 3.4 |2150| 220 | PF29 | PF30 | PF31 | PF32 | PF33 | PF34
28 J&F-47 | J3F-50 | J3IF-53 | 2&F-55 | 12F-58 | 12 F-61
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